

		1					2		I	3		4		
	PRODUCT NUMBER		TOT. PI	N LGTH.	TAIL L	ENGTH	MATING	LENGTH						
		NO. OF	DIM F	DIM F	DIM G	DIM G	DIM H	DIM H	PIN PLATING	POLARIZED	LF			
			ENGLISH		ENGLISH	ļ			CODE	POSITIONS	OPTION			
	68448-001	9	0.425	10.80	0.095	2.41	0.230	5.84	1	4	NOTE 1,3			
	68448-002	10	0.425	10.80	0.095	2.41	0.230	5.84	4	2	1 1			
Α	68448-003	14	0.548	13.92	0.130	3.30	0.318	8.08	2	6	1			Α
	68448-004	16	0.480	12.19	0.150	3.81	0.230	5.84	1	14	<del>-</del>			
	68448-005	16	0.480	12.19	0.150	3.81	0.230	5.84	1	2.5	<b>-</b>			
	68448-006	8	0.480	12.19	0.150	3.81	0.230	5.84	1	2				
	68448-007	4	0.480	12.19	0.150	3.81	0.230	5.84	1	2				
	68448-008	20	0.480	12.19	0.150	3.81	0.230	5.84	1	6				
	68448-009	5	0.425	10.80	0.095	2.41	0.230	5.84	4	2.4				
	68448-010	5	0.450	11.43	0.120	3.05	0.230	5.84	4	2.4				
	68448-011	4	0.425	10.80	0.095	2.41	0.230	5.84	4	2				
	68448-012	8	0.621	15.77	0.203	5.16	0.318	8.08	2	2				
В	68448-013	7	0.621	15.77	0.203	5.16	0.318	8.08	2	3	<u> </u>			В
	68448-014	32	0.621	15.77	0.203	5.16	0.318	8.08	2	2.5.9.20.26.31				
	68448-015	5	0.718	18.24	0.388	9.86	0.230	5.84	1	2	<b>7</b>			
	68448-016	17	0.708	17.98	0.473	12.01	0.135	3.43	4	9				
	68448-017	10	0.708	17.98	0.473	12.01	0.135	3.43	4	5	<u> </u>			
	68448-018	12	0.621	15.77	0.203	5.16	0.318	8.08	2	6	7			_
	68448-019	18	0.913	23.19	0.213	5.41	0.600	15.24	1	2.8.10.12	<u> </u>			
<b>))</b> [(	68448-020	11	0.543	13.79	0.213	5.41	0.230	5.84	1	2.5	7			
	68448-021	8	0.925	23.50	0.128	3.25	0.697	17.70	1	2	7			
	68448-022	6	0.450	11.43	0.120	3.05	0.230	5.84	1	2	7			
С	68448-023	3	0.450	11.43	0.120	3.05	0.230	5.84	4	2	7			С
	68448-024	6	0.395	10.03	0.095	2.41	0.200	5.08	1	3	7			
	68448-025	8	0.395	10.03	0.095	2.41	0.200	5.08	1	3	7			
CI.	68448-026	7	0.513	13.03	0.183	4.65	0.230	5.84	1	3	7 '			
t FCI.	68448-027	6	0.513	13.03	0.183	4.65	0.230	5.84	1	2	NOTE 1,3			
pyright 		1	'	'	1			<u> </u>					-	—
ppyr														
೦										T =				
									www.f			ance std projection 6 ISO 1101	′MM	
										TOL	ERANCES UNLESS OTHERWIS		-	
D									Dr T.BREW Eng T.HAI	ANG	GULAR LINEAR 0.XX	±0.3 size A4 Scal		D
									Chr T.HAI	NNA 12/19/94 0°	±2* 0.XXX	±0.05 ECN N11-0		
									Appr T.HAI			RGSTIK Spec ref	1_	
									<b>FCi</b>	BERGSTIK <sup>®</sup> II		ි ග 68448	Rev.	
										₹ S/R P□L100/2		ă 0	DS	
	REV F - 2006-04-17									catalog no		CUSTOMER sheet 2 o	D+* 1U	
		1					2			PDM: Rev:DS	STATUSRAID	ased <sup>4</sup> Printed: Apr 20, 2	011	

PDM: Rev:DS STATUS Rel

		1					2			3		4	
	PRODUCT NUMBER		TOT. PII	N LGTH.	TAIL L	ENGTH	MATING	LENGTH					
		NO. OF	DIM F	DIM F	DIM G	DIM G	DIM H	DIM H	PIN PLATING	POLARIZED	LF		
				-	ENGLISH				CODE	POSITION	OPTION		
	68448-028	12	0.450	11.43	0.120	3.05	0.230	5.84	4	2	NOTE 1,3		
	68448-029	10	0.450	11.43	0.120	3.05	0.230	5.84	4	2			
Α	68448-030	8	0.450	11.43	0.120	3.05	0.230	5.84	4	2			A
	68448-031	5	0.450	11.43	0.120	3.05	0.230	5.84	4	2			
	68448-032	4	0.450	11.43	0.120	3.05	0.230	5.84	4	2			
	68448-033	6	0.513	13.03	0.183	4.65	0.230	5.84	1	3			
	68448-034	6	0.587	14.91	0.120	3.05	0.367	9.32	4	2			
	68448-035	5	0.450	11.43	0.120	3.05	0.230	5.84	1	2			
	68448-036	6	0.425	10.80	0.095	2.41	0.230	5.84	1	3			
	68448-037	4	0.543	13.79	0.213	5.41	0.230	5.84	4	2			
	68448-038	10	0.548	13.92	0.130	3.30	0.318	8.08	2	4			
_	68448-039	4	0.450	11.43	0.120	3.05	0.230	5.84	1	2			_
В	68448-040	4	0.513	13.03	0.183	4.65	0.230	5.84	3	2			В
	68448-041	12	0.513	13.03	0.183	4.65	0.230	5.84	1	2			
	68448-042	4	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
	68448-043	5	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
	68448-044	6	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
	68448-045	8	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
	68448-046	10	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
"	68448-047	12	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
	68448-048	14	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
_	68448-049	16	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
С	68448-050	20	0.425	10.80	0.095	2.41	0.230	5.84	3	2			C
	68448-051	24	0.425	10.80	0.095	2.41	0.230	5.84	3	2			
	68448-052	12	0.425	10.80	0.095	2.41	0.230	5.84	3	3			
FCI.	68448-053	16	0.425	10.80	0.095	2.41	0.230	5.84	3	3	'		
<b>→</b>	68448-054	32	0.425	10.80	0.095	2.41	0.230	5.84	3	6.15.30	NOTE 1,3		
pyright 											-		
byy													
ට											surface / toler	ance std projection	
									www.f	fciconnect.com	ISO 1302 🗸   ISO 40	06 ISO 1101 INCH/MM	
									Dr   T.BREW		TOLERANCES UNLESS OTHERWIS	SE SPECIFIED Scale	<u>-</u>
D									Eng T.HA		NGULAR LINEAR 0.XX	±0.15 A4 1.000	D
									Chr T.HA		0° ±2° 0.xxx Product family BE	±0.05 ECN N11-0118  RGSTIK Spec ref	
									Appr T.HA	BERGSTIK®I		2 Re	<del>_</del>
									<b>FC</b> j,	S/R P□L, .100		68448 DS	
										catalog no		CUSTOMER sheet 3 of 10	$\dashv$
	REV F - 2006-04-17	4							<u>'</u>	<u> </u>		· ·	
		1					2		1	PDM: Rev:DS	STATUS	ased <sup>4</sup> Printed: Apr. 20, 2011	

PDM: Rev:DS STATUS Relea

		1					2			3		4		
	PRODUCT NUMBER		TOT. PI	N LGTH.	TAIL L	ENGTH	MATING	LENGTH						
		NO. OF	DIM F	DIM F	DIM G	DIM G	DIM H	DIM H	PIN PLATING	POLARIZED	LF I			
		POS	ENGLISH	METRIC	ENGLISH	METRIC	ENGLISH	METRIC	CODE	POSITION	OPTION			
	68448-055	4	0.450	11.43	0.120	3.05	0.230	5.84	2	2	NOTE 1,3			
	68448-056	8	0.450	11.43	0.120	3.05	0.230	5.84		2				
Α	68448-057	8	0.450	11.43	0.120	3.05	0.230	5.84	3	3				Α
	68448-058	10	0.450	11.43	0.120	3.05	0.230	5.84	3	2				
	68448-059	10	0.450	11.43	0.120	3.05	0.230	5.84	3	3				
	68448-060	12	0.450	11.43	0.120	3.05	0.230	5.84	3	5				
	68448-061	12	0.450	11.43	0.120	3.05	0.230	5.84	3	6				
	68448-062	6	0.425	10.80	0.095	2.41	0.230	5.84	3	2.4				
	68448-063	7	0.425	10.80	0.095	2.41	0.230	5.84	3	2.4				
	68448-064	16	0.480	12.19	0.150	3.81	0.230	5.84	2	3				
	68448-065	16	0.480	12.19	0.150	3.81	0.230	5.84	2	2.5				
	68448-066	16	0.480	12.19	0.150	3.81	0.230	5.84	2	2.4.14				
В	68448-067	20	0.480	12.19	0.150	3.81	0.230	5.84	2	7				В
	68448-068	16	0.480	12.19	0.150	3.81	0.230	5.84	2	4				
	68448-069	8	0.480	12.19	0.150	3.81	0.230	5.84	2	2				
	68448-070	20	0.480	12.19	0.150	3.81	0.230	5.84	2	4.5.7.8				
	68448-071	4	0.480	12.19	0.150	3.81	0.230	5.84	2	2				
	68448-072	20	0.480	12.19	0.150	3.81	0.230	5.84	2	6				_
	68448-073	3	0.425	10.80	0.095	2.41	0.230	5.84	1	2				
וי((	68448-074	6	0.425	10.80	0.095	2.41	0.230	5.84	1	2				
	68448-075	6	0.480	12.19	0.150	3.81	0.230	5.84	1	3				
	68448-076	5	0.513	13.03	0.183	4.65	0.230	5.84	3	2				
С	68448-077	4	0.425	10.80	0.095	2.41	0.230	5.84	3	2				С
	68448-078			NO.	AVAILA	BLE - S	UPERSE	DED BY	68448-045					
	68448-079	4	0.425	10.80	0.095	2.41	0.230	5.84	4	2				
CI.	68448-080	4	0.425	10.80	0.095	2.41	0.230	5.84	2	2	<u> </u>			
t FCI.	68448-081	4	0.425	10.80	0.095	2.41	0.230	5.84	2	2	NOTE 1,3			
pyright 				•			-			1	<u> </u>			_
ppyr														
೦										T .	C ( ] <del> </del>			
									www.			ance std projection  16 ISO 1101  INCH/N	мм	
										-	TOLERANCES UNLESS OTHERWIS		_	
D										WBAKER 12/19/94 IANNA 12/19/94	NGULAR LINEAR 0.XX	±0.3 size A4 Scale		D
									Chr T.H	IANNA 12/19/94	0° ±2° 0.XXX	±0.05 ECN N11-01		
									Appr T.H			RGSTIK Spec ref		
									<b>  FCi</b>	BERGSTIK <sup>®</sup> I		ි ග 68448	Rev.	
										\$ S/R P□L100	/ と,34CC	* o	DS	
	REV F - 2006-04-17			1						catalog no		CUSTOMER sheet 4 of	10	
		1		l			2			PDM: Rev:DS	STATUS Rele	ased <sup>4</sup> Printed: Apr. 20, 20	111	

PDM: Rev:DS STATUS

		1					2			3		4	
	PRODUCT NUMBER		TOT. PIN	V LGTH.	TAIL L	ENGTH	MATING	LENGTH	1		T '		1
		NO. OF	DIM F	DIM F	DIM G	DIM G	DIM H	DIM H	PIN PLATING	POLARIZED	LF		
		POS	ENGLISH	METRIC	ENGLISH	METRIC	ENGLISH	METRIC	CODE	POSITION	OPTION		
	68448-082	5	0.425	10.80	0.095	2.41	0.230	5.84	4	2	NOTE 1,3		
	68448-083	5	0.425	10.80	0.095	2.41	0.230	5.84	2	2	7		١.
Α	68448-084	5	0.425	10.80	0.095	2.41	0.230	5.84	2	2	7		A
	68448-085	6	0.425	10.80	0.095	2.41	0.230	5.84	4	2	7		
	68448-086	6	0.425	10.80	0.095	2.41	0.230	5.84	2	2	7		
	68448-087	6	0.425	10.80	0.095	2.41	0.230	5.84	2	2	7		
	68448-088	7	0.425	10.80	0.095	2.41	0.230	5.84	4	2	7		
	68448-089	7	0.425	10.80	0.095	2.41	0.230	5.84	2	2	7		
	68448-090	7	0.425	10.80	0.095	2.41	0.230	5.84	2	2	7		
	68448-091	36	0.450	11.43	0.120	3.05	0.230	5.84	1	ALL EVEN	7		
	68448-092	6	0.510	12.95	0.180	4.57	0.230	5.84	1	3	7		
	68448-093	6	0.480	12.19	0.150	3.81	0.230	5.84	1	2	7		
В	68448-094	12	0.480	12.19	0.150	3.81	0.230	5.84	1	2	7		B
	68448-095	9	0.555	14.10	0.225	5.72	0.230	5.84	1	2	7		
	68448-096	7	0.425	10.80	0.095	2.41	0.230	5.84	4	3.4.6	7		
	68448-097	9	0.425	10.80	0.095	2.41	0.230	5.84	1	2	1		
	68448-098	5	0.525	13.34	0.107	2.72	0.318	8.08	4	2.3	1		
	68448-099	12	0.548	13.92	0.130	3.30	0.318	8.08	2	6	1		
	68448-100	4	0.455	11.56	0.125	3.18	0.230	5.84	1	2	1		
יווו	68448-101	9	0.450	11.43	0.120	3.05	0.230	5.84	2	2	<b>-</b>		
	68448-102	9	0.450	11.43	0.120	3.05	0.230	5.84	2	2	<b>-</b>		
	68448-103	5	0.450	11.43	0.120	3.05	0.230	5.84	1	2.4	<b>-</b>		
С	68448-104				AVAILAI						1		C
	68448-105	8	0.548	13.92	0.130	3.30	0.318	8.08	4	2	1		
	68448-106				AVAILAI	BLE					1		
.:	68448-107				AVAILAI	-					<b>⊣ '</b>		
: FCI	68448-108				AVAILAI						NOTE 1,3		
ight —			1								, ,		$\vdash$
Copyright 													
2													
									www.4			nce std projection   5 ISO 1101	
									W W W. I	CICOTITICE VICOTI	LERANCES UNLESS OTHERWISE	<del> (A)                             </del>	
D										/BAKER 12/19/94 AND	GULAR LINEAR 0.X	±0.3 size A4 Scale	D
									Eng T.HA Chr T.HA		±2* LINEAR 0.XX	±0.15	-
									Appr T.HA	NNA 12/19/94 Pr	oduct family BER	GSTIK Spec ref	1
									<b>EC</b> i	BERGSTIK <sup>®</sup> II		8 Rev. Rev.	
										₩ S/R P□L100/2	2.54cc	§ D2	]
	REV F - 2006-04-17			ı					<u> </u>	catalog no		CUSTOMER sheet 5 of 10	J
		1					2			PDM: Rev:DS	STATUS Relea	ased <sup>4</sup> Printed: Apr 20, 2011	

PDM: Rev:DS STATUS: Released 4 Printed: Apr 20, 2011

		1					2			3		4	
	PRODUCT NUMBER		TOT. PIN	LGTH.	TAIL L	ENGTH	MATING	LENGTH	l			T	]
		NO. OF	DIM F	DIM F	DIM G	DIM G	DIM H	DIM H	PIN PLATING	POLARIZED	T LF		
			ENGLISH						CODE	POSITION	OPTION		
	68448-109			NOT		-					NOTE 1,3	7	
	68448-110				AVAILA						<del> </del>		
Α	68448-111				AVAILA						1		A
	68448-112	3	0.480		0.150	3.81	0.230	5.84	1	2	┪		
	68448-113	5	<b>.</b>	12.19	0.150	3.81	0.230	5.84	1	2.4	1		
	68448-114	-			AVAILAE				·		1		
	68448-115				AVAILAE						┪		
	68448-116	3	0.450		0.120	3.05	0.230	5.84	3	2	1		_
	68448-117	6			0.120	3.05	0.318	8.08	<u>-</u> 1	2	┪		
	68448-118	18	<del></del>	11.43	0.120	3.05	0.230	5.84	1	7	1		
	68448-119	_		NO							1		
	68448-120			NO							┪		
В	68448-121	3	0.450		0.120	3.05	0.230	5.84	1	2	┪		В
	68448-122	10	0.538	13.67	0.120	3.05	0.318	8.08	4	2	1		
	68448-123	3	<b>—</b>	11.43	0.120	3.05	0.230	5.84	2	2	┪		
	68448-124	4	0.751	19.08	0.333	8.46	0.318	8.08	4	2	┪		
	68448-125	7	0.751	19.08	0.333	8.46	0.318	8.08	4	3	┪		
	68448-126			NO					<u> </u>	-	┥		_
	68448-127	18	0.450	11.43	0.120	3.05	0.230	5.84	1	7	1		
יווכ	68448-128	16	<b></b>	11.43	0.120	3.05	0.230	5.84	2	3	1		
	68448-129	9	0.425	10.80	0.095	2.41	0.230	5.84	1	2.4.6.8	1		
	68448-130	5	<del></del>		0.120	3.05	0.230	5.84	2	2	1		
С	68448-131	5			0.120	3.05	0.230	5.84	2	2	1		C
	68448-132	5	0.425	10.80	0.095	2.41	0.230	5.84	4	1	1		
	68448-133	17	0.425	10.80	0.095	2.41	0.230	5.84	4	3	1		
Ħ	68448-134	8	0.425	10.80	0.095	2.41	0.230	5.84	4	2	<b>⊣</b> '		
FCL	68448-135	4	0.588	14.94	0.170	4.32	0.318	8.08	1	2.3	NOTE 1,3		
Copyright 									·		,	_	
ору													
ت										su	ırface / tole	rance std projection	1
									www.f	fciconnect.com ISI	o 1302 🗸 <b>i</b> so 4	406 ISO 1101 A INCH/MM	
_									The T DDE.	TOL   VBAKER   12/19/94	LERANCES UNLESS OTHERV	THE GIESTINES	┨ .
D									Eng T.HA	ANG	GULAR LINEAR 0.X	<del></del> 1	l D
									Chr T.HA		±2* 0.XX		]
									Appr T.HA	ANNA   12/19/94   Pr BERGSTIK <sup>®</sup> II		ERGSTIK Spec ref	1
									FCi.	BERGSTIK°11 ⇒ S/R P□L100/2		2 68448 Rev. DS	
										catalog no		ਰ DS CUSTOMER sheet 6 of 10	-
	REV F - 2006-04-17											1 COSTUNENT SHEET OUT IN	J
		1		ı			2		1	PDM: Rev:DS	STATUS.Rel	eased <sup>4</sup> Printed: Apr 20, 2011	

		1					2		Ĭ	3		4	
	PRODUCT NUMBER		TOT. PII	N LGTH.	TAIL L	ENGTH	MATING	LENGTH					
		NO. OF	DIM F	DIM F	DIM G	DIM G	DIM H	DIM H	PIN PLATING	POLARIZED	⊢ LF		
				1	ENGLISH				CODE	POSITION	OPTION		
	68448-136	4	0.538	13.67	0.120	3.05	0.318	8.08	2	2	NOTE 1,3		
	68448-137	6	0.568	14.43	0.150	3.81	0.318	8.08	1	2.3.4.5	<b>1</b>		
Α	68448-138	5	0.450	11.43	0.120	3.05	0.230	5.84	3	2			A
	68448-139	7	0.425	10.80	0.095	2.41	0.230	5.84	4	5	<b>-</b>		
	68448-140	9	0.450	11.43	0.120	3.05	0.230	5.84	1	2			
	68448-141	6	0.538	13.67	0.120	3.05	0.318	8.08	1	3.5			
	68448-142	6	0.538	13.67	0.120	3.05	0.318	8.08	1	1.5			
	68448-143	24	0.555	14.10	0.120	3.05	0.335	8.51	4	7.9.16.18			
	68448-144	8	0.513	13.03	0.095	2.41	0.318	8.08	4	6			
	68448-145	7	0.450	11.43	0.120	3.05	0.230	5.84	4	2.4.6			
	68448-146	3	0.425	10.80	0.095	2.41	0.230	5.84	4	2			
_	68448-147	3	0.538	13.67	0.120	3.05	0.318	8.08	2	1			
В	68448-148	3	0.538	13.67	0.120	3.05	0.318	8.08	2	2			В
	68448-149	10	0.450	11.43	0.120	3.05	0.230	5.84	4	3.4.5.6.7.8			
	68448-150	12	0.543	13.79	0.125	3.18	0.318	8.08	2	7			
	68448-151	4	0.538	13.67	0.120	3.05	0.318	8.08	4	2	7		
	68448-152	12	0.538	13.67	0.120	3.05	0.318	8.08	4	10			
	68448-153	8	0.820	20.83	0.130	3.30	0.590	14.99	4	2.4.6.7	7		
	68448-154	4	0.450	11.43	0.120	3.05	0.230	5.84	2	2			
<b>)))'</b>	68448-155	6	0.450	11.43	0.120	3.05	0.230	5.84	2	3			
	68448-156	7	0.450	11.43	0.120	3.05	0.230	5.84	2	3			
_	68448-157	14	0.450	11.43	0.120	3.05	0.230	5.84	2	2			
С	68448-158	8	0.450	11.43	0.120	3.05	0.230	5.84	4	5.7			C
	68448-159	11	0.450	11.43	0.120	3.05	0.230	5.84	4	7			
	68448-160	12	0.450	11.43	0.120	3.05	0.230	5.84	4	9			
FCI.	68448-161	12	0.450	11.43	0.120	3.05	0.230	5.84	4	4			
수 노	68448-162	14	0.450	11.43	0.120	3.05	0.230	5.84	4	13	NOTE 1,3		
pyright 									-				
ppy													
CO										-	urface / toler	ance std projection	
									www.f	ciconnect.com I	SO 1302 🗸 ISO 40	06 ISO 1101	м
_									Dr T.BREW		DLERANCES UNLESS DTHERWIS		<b>→</b> _
D									Eng T.HA	AN AN	NGULAR LINEAR 0.XX		
									Chr T.HA		1 ±2 0.XXX		18
									Appr T.HA	NNA   12/19/94   P BERGSTIK <sup>®</sup> II		RGSTIK   Spec ref	Rev.
									<b>FCi</b> ,	S/R POL100/		68448	DS DS
										catalog no		ਰ CUSTOMER sheet 7 of	
	REV F - 2006-04-17									-		•	
		1		'			2		ı	PDM: Rev:DS	STATUSRALA	ased <sup>4</sup> Printed: Apr 20, 201	11

PDM: Rev:DS STATUS Rele

		1					2			3		4	
	PRODUCT NUMBER		TOT. PIN	I LGTH.	TAIL L	ENGTH	MATING	LENGTH					
		NO. OF	DIM F		DIM G		DIM H	DIM H	PIN PLATING	POLARIZED	l LF		
			ENGLISH						CODE	POSITION	OPTION		
	68448-163	7	0.450		0.120	3.05	0.230	5.84	2	2	NOTE 1,3		
	68448-164		·						8448-156		1   1		
Α	68448-165	7	0.450		0.120	3.05	0.230	5.84	2	4	1		A
	68448-166	14	0.450		0.120		0.230	5.84	2	5	1		
	68448-167	15	0.450		0.120	<b>.</b>	0.230	5.84	2	3	1		
	68448-168	14	0.450	11.43	0.120	3.05	0.230	5.84	2	5.11	1		
	68448-169	9	0.350	8.89	0.120	3.05	0.130	3.30	1	2			
	68448-170	5	0.548	13.92	0.130	3.30	0.318	8.08	4	2.3.4			
	68448-171	15	0.470	11.94	0.100	2.54	0.270	6.86	2	2			
	68448-172	10	0.438	11.13	0.120	3.05	0.218	5.54	1	10			
	68448-173	6	0.438	11.13	0.120	3.05	0.218	5.54	1	3			
	68448-174	6	0.438	11.13	0.120	3.05	0.218	5.54	1	1	1		
	68448-175	12	0.538	13.67	0.120	3.05	0.318	8.08	4	2.4.6.7.9.11	1		
В	68448-176	21	0.450	11.43	0.120	3.05	0.230	5.84	1	14	]		В
	68448-177	18	0.450	11.43	0.120	3.05	0.230	5.84	2	17	]		
	68448-178	10	0.450	11.43	0.120	3.05	0.230	5.84	2	6			
	68448-179	36	0.450	11.43	0.120	3.05	0.230	5.84	4	3.6.9.12.15.18.21.24.27.30.33.36			
	68448-180	36	0.450	11.43	0.120	3.05	0.230	5.84	4	ALL EVEN			
	68448-181H	5	0.503	12.78	0.085	2.16	0.318	8.08	1	2.3.4			
	68448-182	3	0.450	11.43	0.120	3.05	0.230	5.84	2	2			
	68448-183H	6	0.415	10.54	0.085	2.16	0.230	5.84	4	2.3.4			
	68448-184	8	0.450	11.43	0.120	3.05	0.230	5.84	2	6			
Ĺ	68448-185H	13	1.030	26.16	0.090	2.29	0.840	21.34	4	2.4.6.8.10.12			
	68448-186H	4	0.538	13.67	0.120	3.05	0.318	8.08	2	2.3			
С	68448-187H	7	0.450	11.43	0.120	3.05	0.230	5.84	2	2.3.5.6			C
	68448-188H	20	0.720	18.29	0.120	3.05	0.500	12.70	1	4.5.6.15.16.17	_		
	68448-189H	9	0.455	11.56	0.125	3.18	0.230	5.84	1	2	NOTE 1,3		
ght FCI. 													
Copyright 									_				
D										Dr T.BREWBAKER 12/19/94 ANGUL AR	tolerance s ISO 406 ISO SS OTHERWISE SPECIF O.X ±0	1101 INCH/MM TIED Scale	D
, and the second										T.HANNA	0.XXX ±0.i	05 ECN N11-0118	, D
	REV F - 2006-04-17	4										- 4	
		1			'		2		ı	PDM: Rev:DS STATE	ıs <b>Release</b> o	<sup>4</sup> Printed: Apr 20, 2011	

		1			1		2	2		3		4		
	PRODUCT NUMBER		TOT. PII	N LGTH.	TAIL L	ENGTH	MATING	LENGTH			T <sup>1</sup>			ĺ
		NO. OF				DIM G	DIM H		PIN PLATING	POLARIZED	LF			ĺ
						METRIC			CODE	POSITION	OPTION		l	l
	68448-190H		0.543	<del></del>	0.125		0.318	8.08	1	1	NOTE 1,3		l	l
	68448-191H	10	0.543	13.79	0.125		0.318	8.08	1	10	1,0			ĺ
Α	68448-192H	6	0.543	13.79	0.125	3.18	0.318	8.08	1	3	7		l	A
	68448-193H		0.830	21.08	0.110	2.79	0.620	15.75	1	2				ĺ
	68448-194H		0.320	8.13	0.095	2.41	0.125	3.18	4	3.8.13.18.23.28.33			l	l
	68448-195H	36	0.320		0.095	<del>-</del>	0.125	3.18	4	3.9.15.21.27.33	_			ĺ
	68448-196	5	0.548	<del></del>	0.130	<del>-</del>	0.318	8.08	2	2	_		l	l
	68448-197H		0.750		0.420	<del>-</del>	0.230	5.84	4	2.4.6.8.10.12.14.16.18.20.22	1		l	l
	68448-198H		0.350	8.89	0.100	<del>-</del>	0.150	3.81	4	2	<u> </u>		Γ	_
	68448-199	4	0.548		0.130		0.318	8.08	4	1	<u> </u>	1		1
	68448-200H		0.450		0.120	<del>-</del>	0.230	5.84	4	5	<u> </u>		l	l
	68448-201H		0.735		0.095		0.540	13.72	1	1.4.7.9.10.12.13.15.16.18.19	<b></b>	1		1
	68448-202H		0.735		0.095		0.540	13.72	1	3.4.6.7.9.12.13.15.16.18.19	<u> </u>		l	l
ע	68448-203H		0.350	8.89	0.120		0.130	3.30	2	2	╡		l	В
	68448-204H		0.438		0.120		0.218	5.54	2	10	4		l	l
	68448-205H		0.438		0.120		0.218	5.54	2	3	4		l	l
	68448-206H		0.438		0.120		0.218	5.54	2	1	4		l	l
	68448-207H		0.395		0.095		0.200	5.08	2	3	4		l	l
	68448-208H		0.395		0.095		0.200	5.08	2	3	4			l
_	68448-209H		0.425		0.095		0.230	5.84	4	4	4		Γ	
	68448-210H		1.140		0.120		0.920 0.368	23.37 9.35	4	2.4.6.8.10				l
	68448-211H 68448-212H		0.538 0.425		0.070		0.230	5.84	<u>4</u> 2	2.4.6	-			l
	68448-213H		0.450		0.120		0.230	5.84	4	5	1			l
	68448-214H		0.430	9.47	0.095		0.230	4.52	4	3.8.13.18.23.28.33	1			l
	68448-215H		0.373		0.095		0.178	4.52	4	3.9.15.21.27.33	-			C
	68448-216H		0.425		0.095		0.230	5.84	<u></u>	9	NOTE 1,3			ĺ
	00110 21011		0.120	110.00	10.000	1 2.11	0.200	0.01	•		1			l
ت														l
FCI														l
<u> </u>													ļ	<u> </u>
pyright 														l
Copy														l
O												erance std projection		l
										""" elebrine e vicori			H/MM	l .
_										Dr T.BREWBAKER 12/19/94	RANCES UNLESS OTHER		cale	1 _
D										Eng T.HANNA 12/19/94 ANGUI	IARI —		.000	D
										Chr T.HANNA 12/19/94 0°	±2* 0.X	xxx ±0.05 ECN N11	-0118	1
												BERGSTIK   Spec ref		l .
										FC1 BERGSTIK II H		68448	Rev.	1
										₹ S/R P□L100/2.5	54cc	<u>8</u>	DS	
	REV F - 2006-04-17								1	catalog no		CUSTOMER sheet s	9 of 10	Į.
		1					2	<u> </u>		PDM: Rev:DS	STATUSRA	leased <sup>4</sup> Printed: Apr. 20.	2011	

PDM: Rev:DS

					1		5		1	3		1		4		
	PRODUCT NUMBER		TOT. PII	N LGTH.	TAIL L	ENGTH	MATING	LENGTH								7
		NO. OF			DIM G	DIM G	DIM H	DIM H	PIN PLATING	PO	LARIZED		LF			
		1		1	+	1	<del></del>		CODE		DSITION	── OF	NOIT			
	68448-217H	9	0.450		0.120	3.05	0.230	5.84	2		9		E 1,3	1		
	68448-218H	10	0.450		0.120	3.05	0.230	5.84	1		4		1			
Α	68448-219H	29	0.450		0.120	3.05	0.230	5.84	2	6.8.10.	13.19.21.28					4
	68448-220H	6	0.450	11.43	0.120	3.05	0.230	5.84	4		2					'
	68448-221H	36	0.372	9.45	0.094	2.39	0.178	4.52	4	2.5.8.11.14.17	.20.23.26.29.3	2.35				
	68448-222H	26	0.438	11.13	0.120	3.05	0.218	5.54	1	4	1.7.17					
	68448-223H	13	0.700	17.78	0.300	7.62	0.300	7.62	2		2					
	68448-224H	8	0.450	11.43	0.120	3.05	0.230	5.84	2		5					
	68448-225H	8	0.730	18.54	0.110	2.79	0.520	13.21	4	2	2.4.6.8					
	68448-226H	8	0.620	15.75	0.120	3.05	0.400	10.16	2		2.4.6.7					
	68448-227H	8	0.450		0.120	3.05	0.230	5.84	1		5					
	68448-228H	23	0.665	16.89	0.115	2.92	0.450	11.43	4	2.4.6.8.10.1	2.14.16.18.20.2	22				
	68448-229H	10	0.450	11.43	0.120	3.05	0.230	5.84	1		3					
n	68448-230H	3	0.430	10.92	0.100	2.54	0.230	5.84	4		2					١,
В	68448-231H	5	0.430	10.92	0.100	2.54	0.230	5.84	4		2.4					F
	68448-232H	3	0.320	8.13	0.095	2.41	0.125	3.18	4		2					
	68448-233H	7	0.425	10.80	0.095	2.41	0.230	5.84	1		2.4.6					
	68448-234H	36	0.475	12.07	0.095	2.41	0.280	7.11	4	_	.20.23.26.29.3	2.35				
	68448-235H	22	0.438	11.13	0.120	3.05	0.218	5.54	1		3.13					
	68448-236H	36	0.435	11.05	0.095	2.41	0.240	6.10	4		7.20.23.26.29.3	2.35				
	68448-237H	26	0.438	11.13	0.120	3.05	0.218	5.54	<u>.</u> 1		1,7,17					
	68448-238H	3	0.530	13.46	+	5.08	0.230	5.84	4		2					
)),	68448-239H	5	0.530	13.46	+	5.08	0.230	5.84	4		2,4					
	68448-240H	17	0.450	11.43	+	3.05	0.230	5.84	4	2.4.6.8	,10,12,14,16					
	68448-241H	10	0.318		0.170	4.32	0.080	2.03	4		1,6,8,10					
С	68448-242H	5	0.538	13.67	0.120	3.05	0.318	8.08	4		2,3,4					0
	68448-243H	3	0.383	9.72	0.123	1.85	0.210	5.33	4		2		*	NOTE 6		
	68448-244H	17	0.383	9.72	0.073	1.85	0.210	5.33	4	2468	,10,12,14,16	— пот	E 1,3	NOTE 6		
	00440 24411	17	0.505	3.72	0.073	1.05	0.210	0.55	<u> </u>	2,4,0,0	,10,12,11,10			]		
;																
, —		PIN F	PLATING C	CODES												
	1 30	u"/0.76u	MIN (SE	NOTE 5	OVER 5	50u" /1.2	27u MIN I	Ni								
5					OVER 5								<del></del>			4
	3 50	u"/1.27u	MIN (SE	E NOTE 5	OVER 5	50u" /1.2	27u MIN I	Ni		www.fciconn		`face   1302		nce std projection ISO 1101	INCH/MM	
	4 100	\u"/2 54ı	ı MINI Sp	OVED 50	Du"/1.27u	MINI NI	(SEE NOT	-E 1)		www.i cicoriii		RANCES UNLESS				
D	4HLF TO	Ju / 2.540	ı WIIN SII	OVER 30	Ju / 1.2/u	IVIIIN INI	(SEE NO			Dr T.BREWBAKER	12/19/94 ANG	JLAR LINEAR	0.X	±0.3 size	Scale	7 I
-										Eng T.HANNA	12/13/34	LINEAR	$\overline{}$	±0.15 A4	1.000	<b>↓</b> ¯
										Chr T.HANNA Appr T.HANNA		±2*  oduct famil	0.XXX	±0.05 ECN GSTIK Spec ref	N11-0118	-
											BERGSTIK <sup>®</sup> II I		, DERC	2	Rev.	.1
										FCj, \frac{\pi}{2}	S/R POL100/2			68448	8 DS	1
								catalog		· <b></b>		ਰ CUST⊡MER	sheet 10 of 10	1		
	REV F - 2006-04-17									1 -   -   -				L COSTEINER	1 5/1007 10	J
		1			I		2		1	₽DN	/I: Rev:DS	STATUS	Relea	ased <sup>4</sup> Printed: /	Apr 20, 2011	

## **X-ON Electronics**

Largest Supplier of Electrical and Electronic Components

Click to view similar products for Headers & Wire Housings category:

Click to view products by FCT Electronics manufacturer:

Other Similar products are found below:

95000-104TRLF 10135584-644402LF DF62W-EP2022PCA 95000-106TRLF DF62W-2022SCA DF62W-EP2022PC 2203348 DF62W-2022SC 1084018 1029039 1084017 802-10-012-10-002000 1112640 1112639 000-34000 0009482033 0009507031 57102-S06-03LF 57202-S52-04LF PCN6-15S-2.5E 0039019024 58102-G61-06LF 582553-1 0009485154 0009508121 0022285053 0050291907 018731A LY20-4P-DT1-PIE-BR 02.125.8002.8 60101931 60598-1 (Cut Strip) M1625-3R/100 61062-3 61082-181009 636-1427 638009-1 641938-9 641991-4 644168-1 647662-1 65039-019ELF 65781-018 65781-047 65817-002LF 65817-015LF 65863-015LF 66207-023LF 67016-026LF 67046-001LF